W (4R [F4m4 )
_ FET-F(%) SETAEBIEU(AN) SEBIE(N)
BEDEMIFEY 5 18.2 2 11
= 20.0 1 5
e 18.8 3 16
EHEOEMHEY ] 0.0 0 23
= 20.0 4 20
21 9.3 4 43
EEOESHEY ] 0.0 0 9
= 16.7 1 6
21K 6.7 1 15
SEXBLUMOE I EY E:] 20.0 3 15
T 50.0 4 8
21k 30.4 7 23
SMLHEE 5 0.0 0 2
= 0.0 0 2
21K 0.0 0 4
fifi 2% ] 21.8 12 55
= 5.9 2 34
21K 15.7 14 89
TS E:] N/A 0 0
= 0.0 0 6
£ 0.0 0 6
[ EES 5 115 7 61
S 5.8 3 52
21K 8.8 10 113
A HH i E] 8.7 2 23
= 20.0 4 20
£ 14.0 6 43
HERTR ] 0.0 0 16
S 6.7 1 15
21K 3.2 1 31
KEREHEREHT ] 0.0 0 21
= 0.0 0 35
£k 0.0 0 56
BiEE ] 0.0 0 1
= 0.0 0 3
£k 0.0 0 4
LS PN ] 0.0 0 6
= 0.0 0 15
£k 0.0 0 21
SMRER ] 0.0 0 9
= 0.0 0 11
£k 0.0 0 20
R E E:] 0.0 0 36
= 0.0 0 32
2k 0.0 0 68
AT 3L AR AR KAE 5 0.0 0 9
= N/A 0 0
21 0.0 0 9
B A fE 5B 0.0 0 9
S 0.0 0 11
2k 0.0 0 20
7 ] 0.0 0 4
= 0.0 0 2
21 0.0 0 6
FEME ] N/A 0 0
S 0.0 0 14
21k 0.0 0 14
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FET-F(%) FETEBIE(A) fiEfFIER(N)
RIDAE 5 0.0 0 6
= 0.0 0 2
e 0.0 0 8
BEHARURERA 5 0.0 0 7
= 0.0 0 6
21 0.0 0 13
ALEOEETEY ] N/A 0 0
= 23.1 3 13
21K 23.1 3 13
FRBEETAE E:] 0.0 0 4
T 0.0 0 33
21k 0.0 0 37
BEAIZT 5 0.0 0 37
= 0.0 0 2
24K 0.0 0 39




